[ 12 2 1 23
4 5 —1 andN=|4 -1 5
3 20 2 -3 -1
|"valuate 2M — 3N
(-1 12 =5 -1 12 5
< 13 —17] B|4 13 13
-12 13 3 -12 13 3
-1 12 5 -1 0 -5
4 3| D a7
O =3 3 0 =5 3
Let P = {1,2,u,v,w,x},
Q= {2,3,u,v,w,5,6,y} and R
= {2,3,4,v,x,y} Determine
(P-Q)nR. A. {l,x} B. {x,y}

CONSOLIDATED JAMB QUESTIONS MATHEMATICS 2024

If M and N are two matrices defined
by

C. {x}

D. ¢

312

/ 2 . 82 .
A. -32-!( squnits  B. 5&’sq units

C.

ATITTIIT]
6.

(Numbers indicate the lengths of]
the sides of the triangles) if the area
of APLR is k*sq. units, what is the
area of the shaded portion?

gkzsq units D. %kzsq‘units :

In the figure above, O is the centre
of the circle ABC ZCED=30°,

10.

D. (2-5,2-6) -

ZEDA=40° what is the size of
ZABC? A.70° B.1i0* C.105°
D. 130°

Giventhat =1+, andg =

I -5, evaluate p?-42

2pg
A. 2 (2+2)  B.202+V2)
C.o2 . D22

Arrange the following numbers in
ascending order of magnitude 6/7,
13/15, 0.865. A. 13/15<0.865 <
6/7 B.6/7<0.865 < 13/15

C. 6/7 < 13/15 < 0.865

D. 0.865 < 6/7 < 13/15

In the diagram above, find the value’
ofx? A.45° B.15° C.40° D.30°

If n is the median and m is the mode
of the following set of numbers,
2,4,2.1,1-6,2-6,2-6,3-7,2-1,2-6
then (n,m) is A. (26,2-5)
B. (2-6,2-6) C. (2-5,2-1)

Find the rate of change of the
volume v of a sphere with respect
to its radius » when r = [.

A.8n B.4n C.12n D.24n

Thé"seéond- term of a geometric.
series is 4 while the fourth term is
16. Find the sum of the first five
terms. VA.'62 B. 60 - C. 54 D. 64

2024 -1

11

12.

14.

15.

. Make r the subject of the
X zd

formula r+a =~ r

2
A. B! B. L C i,
xta x—a Y y--a
2
a
T oxHa

Find the value of x for which the
function y —x* —x has a minimum

a

A R f\/—-

D. \/:? _

value.

0 )

4 [

‘.

. Find the radius of a sphere whosc

A. L.75cm
D. 3.00cm

surface area is 134cm?’.
B. 7.00cm C. 3.50cm

At what rate would a sum of
Ni100.00 deposited for 5 years raise
an interest of WN7.50? A. 2%%
B.1%% C.15% D.25%

Number | 2 3

41516

Frequency

20 21 |x-1 |26

-

12

The result of tossing a fair dice 120
times is summarized above. Find the
valueof x A.22 B.21 C.20
D. 19

. If two dice are thrown together,

what is the probability of obtaining at

least a score of 10?7
A. 11712 B.5/6 C.1/12 D. /s

. If the interest of WN-150.00 for 2%

years is WN4.50. Find the interest
on N250.00 for 6 months at the
same rate A. N1.50 B. 348.00
C. N7.50 D, N5.00




18. Find a positive value of p il the
expression 2x*-px+p leaves a
remainder 6 when divided by x—p.

A2 B.-3 C4 DI

19. The nth term of a sequence is given
by 3’_ " Find the sum of the first
three terms of the scquence.
Aliz B.1 ¢ 139 D 19

20. Find the missing point/value in the
following road

3 .-2-|0123||

p=r—t3 3|13 |3 |9 27

A.13 B.-3 C.-5 D.3

21. Find the range of 4,9, 6, 3, 2, 8,
10and 117 A. 4 B.I1 C. 9
D. 8

22. Find the sum to infinity of the series

3.9 o
247 +g+g+
A8 B4 C2 DI
23,
T|U
AN

What is the obtuse angle formed
when the point U is joined to O7
A. 145° B.120° C. 105 D. 102°
24. If y = (3 — 2x), find the value of

%p.tx=—2
A. 57 B.-54 C.-27 D.-6

25. A bag contains 7 white balls and 6
red balls. Two balls are taken from
the bag without replacement, What

26.

21

.| 28.

129.

30.

31.

is the probability that they are both
white? A. 29 B.13 C.35
D. 7126

Find the value of log, ("%/,,), given
that log,, 4 = 0.6021. A. 1.6021
B. 26021 C.2.3979 D. 16021

A man runs a distance of 18km at a
constant speed for the first 4km and
then 2km/hr faster for the rest of
the distance. The whole run takes
him 1 hour. His average speed for
the first 4km is A. 8km/hr

B. 9km/hr C. 13km/hr

D. 1Tkm/hr

At what rate would a sum of
N100.00 deposited for 5 years raise
an interest of WN7.507

A.25% B. 2% %

C. 15% D. 14%

Simplify 5'/, - 2% =/, + 1%/,
W L - VLT Pl /1
D.4 Y,

Make t the subject of the fprmula x
=ut+ af,

A. }g[n {u2—4m):|

o o]

C. Jo[ e fitvacr)

o, Jfonfis]

The mean of the numbers 1.2,
]ﬂﬂgfdl]ﬁﬂSlEandllrs
"A. 1.0 B.1.02 C.1.05 D.08

2024-2 -
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34.

35.

36.

37.

What is the number whose
logarithm to base 10 is 2.3482?
A.223.6 B.0.2228 C.22.37

D. 0.02229

What factor is common to all the
expressions x*—x, 2x*+x—| and x*-1?
A. no common factor B. x
C.x-1 D. x+l

L4

Find the valuc of p for which the
equation x*- (p=2) x+2p+1=0 has
equal roots. A, (4,5} B.(0,12)
C.(,2) D210

abjc]

P
What is the value of p+247

A.-10 B.-25, C.1 D.5,

=gt

IF sine x equals cosine x, what is x
in radians? A. T2 B. W12
C.%e D. ™4,

*
Solve the equations: m*n® = 29,
m+n =27, A.(2,5) and (5,2)

B.(5,3)and (3,5) C.(2,3)and (3,5)
D. (5,2) and (5,3)

The angles marked in the figure
above arc measured in degrees. f]nd
x. A.60° B.30° C.90° D.80°

CONTINUED ON PAGE 2024-3
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CONTINUED FROM PAGE 2024 -2

39. Ifa-b = 5:8, x , y=25:16,
a.b

evaluate 4:2
Xy

A.3:5 B.125:128 C.2:5 D. 3:4
40. Convert 47 ;10 another number in
B. 1010,

A. 1100,
D. 1202,

base three.
C. 1001,

CONSOLIDATED JAMB MATHS
ANSWERS 2024

L1012 2 {223
2la 5 -1|-3l4 -1 5.
3.2 0 2 _.3",_1
2 24 4 ‘ 3 -6 9
=g 10 2|-[12 -3 15
-6 4 0)\6 -9 -3
Dy - 12T
|4 13 A7) W
-12 13 3
2. p-0)= (L} n{2.3,47,0.5)
={x} © -
3. Areaof shaded portion
ﬁ Xk ?sq zrrr112
:-()-k sq. mrir" (C)
4. AAB(‘=180°_(55n+54_()_)
- 180° ~(55°+20°) ©
= [800—'75°= 1050 ’
2
5 sziJ“‘E) z-(l-_ﬁ)

-2

A0 () ®

6. <O 865<r

¥ +110°=150°
x=150°-110°=

Media = 2.5
Mode = 2.6
(2.5, 2.6)-

4rrr2
cf_ =8xrr

whenr=1

& - §(m)l =87

A)
zﬁ
A
;.'2=4=>!’=\/Z52
ar=4

gzgl-z—%ja:

10. T6

2

sa= 225-1)=2(32-1) -

i

2-1

=2x31=62

12 y:: x3

13. Surface Area = 4nr?
154 =4xZxr

— f154x7 -
r= 28 3.50cm

2024-3

40°

(D)

(A)

(B)

©

©

100 % 7.50

R =—00%3

14.

— ID
=l3% (B)

15. 12+20+x+21+x-1 +26 =20

x+ 100 =120

x=120-100=20 ©
Sum

(4,6) =

6;4F =

(5.5)

(6, 5)

(5. 6)

(6. 6)

Pr (at least 10) =§6 == 6 (D)

16.

I

10
11
11
=12

I

_ 100x4.50 6
17.  1=yspxz5 *20%1z
' 100
= N15:00 D)
18. x-p =26
Lx=6+p
26+ pt—p6+p)+P=0
2(36+12p+p2)—6p—p2+p~6=0
72 +24p+2p2 - 6p-p2+p—6=0
p2+19p+66=0
p=2 (A)
19. TI "-:3H =3°=1
T,=3"=3"=1
T3 _—_3'"3 ::3"?' 3312:.&
Sum = -l—-l §+11§
94341 _ 13
=24 = ©
20. x=-2
= (2P -(2)+3
y=-8+2+3
y=3 (B)
21. Range=11-2=9 (©)




a
22. Sum to infinity = T-r 0. e wqh#
o od
13 dx = 4ut + ar2
4
= % =2x4=8 (A) =i = %[—ui\}uz-i-flm: ©
4
23. The obtuse = 60° + 45° 31 Mean=12+1.0+09+144+08
angle = 105°  (©) ' 0.8+1.2+1.1
8
=1.05 C
24. y=(3 -2x)2 ©
%"\: = —4(3-2x)at x =2
%'1_ o o ((34(_2) G4 32. Let 1131@ number be y
logh =2.3482
=-4x7=28 (&)
=y =102 _ 002229 (D)
. oy 1, B 7
25. Pr(both white) = 1372, =26 (D)|33. No factor is common (A)
10 40 34. For equal roots
26. log's—log’s b2 = 4ac :
logl0  log40 = (p+ 22 =41)2p +1)
= - =2.6021 (B P P
log5 log3 (B) =f>p2 dp+a=8p+4
:-‘—pz —12p=0 ~
27. Distance covered = 18km =p =0orp=12 (B)
- 180, .
Time covered = | o
Speed =é—3 35. a2+]1 = a[3
’ b—3—4= b—?
For Ist 5 km, the speed is 26km/hr
.5 i =all= ga? =p=_j3
fast time = 5 :
b= p’ = q= i
Speed for 44m = %O-x-g- =8km/hr (A) Spt2g=-13+2(7)
=-13+14=1 «©)
28. B LU0 S D _
ek =12% M) | 36 trsine= cosy -
%= 459 s
1_51 i LI80% w
29. 5§—sz%+l% Inradlus=>.x:— =% (D)
16_4° & 10 \
47575 37. m2+n2=29
B e T
_80-45+30 gsl3 |3 S e
= 15 153 T3 Solvingimp_lies : ok
=4% (D) (2,5)and (5,2)  (A)
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38, x+2x+3x+x+ 5x
= (3x180°)-18

L 540° _ 1ano
[2x = 2 180

12 . _ 360°
12- 12

(B)

40,
I15r2

510

1r2

Orl= 12023

L L W W

= 12023

(D)



